A & 0l & AFSE E Al A
20082 %2 1 5l 2vtaA
M sellzd B2
B dEsSYIE Ny 23 N
Ciol: Bms Dost2 T4 (Crol:Ha)
SA B HR(E) - MRAY - BYS 0l & plEE" fImE=E]
13,320,074 12,974,437 345,637
sgll=% SR = 238,503 546,000 A307,497
= 13,081,571 12,428,437 653,134
dEsll=s g 22 XA 959,144 769,684 189,460
HEs 22EE =4 959, 144 769,684 189,460
SHdE 5 529,690 519,950 9,740
201 LBrEdd| 451,740 444,450 7,290
01 AtR2cltl 27,775 29,750 A1,975
Ol Atz 2t A1,975 0 A1,975
02 232944l 423,965 414,700 9,265
O3Z22=LHM(REEZ) 306,000 286,000 20,000
OdEHI(REZ) 58,700 48,700 10,000
Oulat= 2 220,735 0 220,735
202 04 39, 150 43,500 24,350
01 =W 39,150 43,500 24,350
OulatE A4,350 0 A4,350
203 &S =&ld| 10,800 12,000 A 1,200
03 AIMFAHR =Y 10,800 12,000 A 1,200
OuleHEZ A 1,200 0 A 1,200
405 KHAHFE SH| 28,000 20,000 8,000
01 T ESFHSH 28,000 20,000 8,000
OFRUAE <14 & HACCPI|+ 10,000 0 10,000
OulatE 22,000 0 22,000
AL S22 70,920 73,200 AN2,280
206 X =4l 4,500 5,000 A 500
01 THZ 4l 4,500 5,000 A500
Oulat&E A500 0 A500
405 KHoEF =H 16,020 17,800 A1,780
01 ML =SSF=HI 16,020 17,800 A 1,780
Oule-EZ A 1,780 0 A 1,780
IAMAIE DIsZEt & B 358,534 176,534 182,000
401 Al EHIZL 2 CHHI 358,534 176,534 182,000
04 Al&HI 340,000 170,000 170,000
OESBL3AM 170,000 0 170,000
06 Al&=0i4 12,000 0 12,000
OB3AHNEE=s2 12,000 0 12,000
MWees(sgl)Isd E21) 2,189,687 2,046,000 143,687
= 238,503 546,000 A307,497
= 1,951,184 1,500,000 451,184
2,189,687 2,046,000 143,687
SHT = = 238,503 546,000 A307,497
= 1,951,184 1,500,000 451,184
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2N sZ)I=2 SR
FH: NWREsS(=HI=d 521
ool BRIE (ol =9
SA-FH-SA(SAH) - NREAY - BES Ol &t oA JE Hns2
2,180,000 2,046,000 134,000
SsgHIALIIAXZYE XHea |elag 42 = 238,503 546,000 A 307,497
= 1,941,497 1,500,000 441,497
680,000 546,000 134,000
311 Xt SOl Xhake = 238,503 546,000 A 307,497
S 441,497 0 441,497
04 SLEIXLS0| K4S 400,000 326,000 74,000
OsgHI2L03xd 400,000 326,000 74,000
& 18,503 326,000 A 307,497
= 381,497 0 381,497
06 JIEtXH S0l Xkatat 280,000 220,000 60,000
OsgHIaLn3axy 280,000 220,000 60,000
& 220,000 220,000 0
S 60,000 0 60,000
=2 ALY Bret g 9,687 0 9,687
802 BtEt=JIE 9,687 0 9,687
01 =10NEXZBEZ 9,687 0 9,687
O=sgI=Z 0t 9,687 0 9,687
HE2AZH(sSI=d S2) 10,171,243 10,158,753 12,490
olFA2IH(BZ) 10,130, 183 10,131,183 A 1,000
lHE2HEE(EZ) 10,130, 183 10,131,183 21,000
203 A =&d| 20,290 21,290 A 1,000
01 JI22ZYRFal 9,000 10,000 A 1,000
OulatE 21,000 0 21,000
| =2 41,060 27,570 13,490
Jl=2&Hl 41,060 27,570 13,490
201 et 41,060 27,570 13,490
01 AtR2eldl 41,060 27,570 13,490
OgX+=4EEE 28,980 14,490 14,490
OuleHEZ 21,000 0 A 1,000




